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HiE AniE MEFAH 4 E U= (kg/10a) B2 (%) 52N = (kg/10a)
F—F¥—F535X FZ50HEY 2014456 A 3H 1898.0 18.2% 344.0
F—Fr—KI3X NILOTY 2014 6 H3H 1621.0 17.5% 283.0
F—F¥—F535X =N 201446 A 11 H 2889.0 14.8% 427.0

FE— R4 201456 811 H 2216.0 17.4% 385.0
FE— FYRy S 20146 5118 2414.0 17.6% 422.0
FE— R ay 2014456 B 17H 2090.0 16.5% 339.0
FE— HOEIhY 201446 B 26 B 3059.0 19.8% 607.0
AL—XTALYTSRA J—Lv7 201446 538 1007.0 22.0% 219.0
HLUA+FEL— ZFEEL 184+ ) Ay T 20146 5178 2914.0 16.0% 466.0
FHIO—I\+FE— FYaAg+F) Ay 20146 5178 2563.0 16.6% 427.0
00— /I\+FEL— BRS+F YRy S 201445 6 817 H 1876.0 18.4% 343.0
O 0—/\+FEL— ARTGHEDEIMY 201446 B 26 B 2576.0 20.2% 520.0
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2 BEINEST
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HiE aniE MEEF A H A EIN=(kg/10a) 2 (%) U= (kg/10a)
F—F¥—F535X [EHRHEY 201478148 2268.0 16.1% 362.0
F—Fr—KI3X NILOTY 201447 B 14 H 2072.0 16.3% 325.0
F—Fr—KI3X =R 201447 H 238 1954.0 15.2% 292.0

FEL— R4 201447 B 23 H 1665.0 17.2% 287.0
FE— FYRy S 201447 H 29 H 1296.0 21.7% 279.0
FE— ARy 201447 H 28H 1144.0 20.9% 236.0
FE— EDOEIMY 20148 A 13 H 892.0 18.2% 161.0
AL—XTOLT SR J—LvF 201478148 2189.0 17.8% 378.0
ALA+FED— CEIE 184+ 1) By 201447 H 288 1079.0 21.3% 229.0
FHIO—/\+FE— FYaAg+F) Ay 201447 B 30 H 1456.0 18.4% 267.0
LOya—/\+FED— ARS+F YRS 201478 30H 909.0 24.6% 221.0
oaya—/\+FEL— ARTHEDOEIMY 2014 % 8 A 13 H 612.0 23.0% 140.0
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5 il (kg/10a X 2 [@) LI (%) (kg/10a X 2[@])
F—F¥—K535R [XBHEY 4165.0 17.0% 707.0
F—F¥—KI 35X NILOTY 3693.0 16.5% 608.0
F—F¥—KI35X =N 4843.0 14.8% 719.0

FE— RIARXY 3881.0 17.3% 672.0
FE— EVE D) 3710.0 18.9% 701.0
FE— R"oam 32370 17.8% 575.0
FE— TOEMY 3957.0 19.4% 768.0
AL—XTALTSR J7—LyS 3196.0 18.7% 597.0
ALA+FEL— CFEXE 184+F) Ay T 3994.0 17.4% 695.0
FHHIO—I+FE— Fyag+x)ayS 4018.0 17.3% 694.0
oOya0—/\+FE— BRS+F) RS 2785.0 20.2% 563.0
Los0—/\+FE— BRS+EEDEHY 3187.0 20.7% 660.0
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FER=p 2 F[NES —H

EE HiE sniE MEREE A H 4 BN E(kg/10a) 23 (%) 29N 2 (kg/10a)
1 ARHTIRY FE(EIhZ 2014F 6 A 11 H 855.0 25.5% 203.1
2 ARHTIRY FE(EIMZ 2014%7HA3H 360.0 28.7% 101.0
3 AR TIRY FEEEIMhR 20144 7823 H 511.0 18.5% 93.8
4 ARHTIRY EFeY VA 20148 A 25 H 489.0 24.5% 119.7
5 ARDTIRY FEFIMZ 20149 H17H 4490 21.9% 96.7
6 ARDTIRY FEFIMZ 2014 £ 10 A 17 H 349.0 15.3% 53.6
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